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Day 5: Characteristics of Quadratic Functions
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Round 1: Projectiles and Parabolas
Look at the two trajectories above.
1. What is the same about the two fquatzons?
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2. What does the y-intercept represent? What part of the equation gives you the y-intercept?
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3. What do the x- mtercepts represent?
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4. The highest part of the bird's flight is represented by what part of the parabola?
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5. How far does Angry Bird fly in h(x)? How high does he go? How far away from the catapult is he when he
is at his highest? When he is 15 feet away, how high is he flying?
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Round 2
1. When Angry Bird is 9 feet away, how high is he flying?
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2. The axis of symmetry is provided. What part. of the parabola does this pass through? What does this
part represent about Angry Bird's flight? T ff’\ﬂ:’ \A?HLQ}Q
N
3. How high does the bird fly? | .
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4. Reflect points over the axis of symmetry to compiete the- parabola Dovyou htt any pigs?
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5. How far would Angry Bird fly i he did not hit any obstacles?
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6. Without solving for the whole equation, what is “¢” valug in standard form? is "a a” positive or negative?
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Round 3

1. Angry bird and hungry pig are 18 feet away from each other. If angry bird and hungry pig are at the same
height (y-value) when angry bird is catapulted, at what distance away is Angry Bird the highest? Think
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Using the picture, what are the x-intercepts? ( (:) .}Q.\) ( . ”‘3){33

Where is the axis of symmetry? You may use the picture to v&suallze but show your atgebralc work
using: AR Round to the nearest integer. | 1= }L e e

How high does Angry Bn’d ﬂy {rounded to the nearest mteger)'-P )
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Sketch the graph of Angry Bird's flight.
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